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5-2  HUMMEA - BUMAEA (O — NERAW)

YIRS - KBS - kKB on=7-" b, 2740 7 =b, &RY b (27 MERR<) A - A M 1M (1472 9)
‘ TRAEIX 4 Sk | g 1P94 7= 0 A MHIEME (aX n +b) n= e
2 A AL | HlrR | T | HRAA el B Hefifi C HAlF B a b 1. 00
1 Bl A 1 g 0.50 0. 50 0.50 0.10 0. 90 1. 00
2 A& 2
2-1 HEER2 Tl A 1 ] 0. 50 0. 50 0.10 0. 90 1. 00
=K 0.50 1. 00 1. 00
X1 PRI E B IE QNS & B9
TEEAHIE - - - RESSRMEIIS U THIEAETT O,
n =it %M () (n O : 1~2)
%2 BAPHEEE DY, BEIROES) - FEIFHOS — FRIFEHILR LT D,
5-5  HERERMT (& — NEkd)
FAHEAKEESS - 7KBE - Tk on=7-" =b, 2740 7 b, BRF b (27 MEER<) BERERZ I - M 1M (1M2%7=9)
P WA X 4 sk | g R R — IGE Af: D S A A __ WHIEME (aX n +b) n= .
7 Mk | FATEGR | HRRA Hehfi B Hehifi C el B a b 1. 00
1 SR 1 1 1.50 0. 10 0. 90 1. 00
2 MRS 22
2-1 BEREFSWTRTAM (42 3T AM) 1 1 0. 20 0. 60 0. 50 0. 10 0. 90 1. 00
3 FEAmES 1
3-1 BERERS AT (42 3T AM) fiq 0. 10 0.90 1. 00
4 FEREfR AR R OB
4-1 PERBAE T T 1 1 0. 10 0. 30 0. 40 0. 40 0. 40 0. 10 0. 90 1. 00
4-2 BEREMR AR Ot 1 1 0. 20 0. 50 0. 70 0. 70 0. 60 0. 10 0. 90 1. 00
4-3 RPREM TV A DOVER 1 1 0. 30 0. 90 1. 00 0. 90 0. 10 0. 90 1. 00
4-4 BEREfR AT A N ORIE 1 1 0. 30 1. 20 1. 20 1. 00 0. 10 0. 90 1. 00
4-5 BEREMRAFHI O R E 1 1 0. 40 1. 10 0. 90 0. 10 0. 90 1. 00
5 REFERFIAMIEERT - DR 1 1 0. 20 0. 20 0. 10 0. 90 1. 00
6 fAA 1 1 0. 40 0. 40 0. 10 0. 90 1. 00
7T R LD 1 1 0. 40 0. 40 0. 60 0. 10 0. 90 1. 00
Y 2. 30 6. 90 4. 90 3.80 1. 00

X1 PEREABHHEDO A L fHESE
TEEARLE - - - BEHE RIS U THIEEZTT 9,
n =@ESSRME (M) (n ORI 1~2)
X2 BAPAZEE S, BEVLOED) - FEIFHO S — FERIEZ R LT 5,




